2 AT RE U B

W44

(2 + 3x+ 4)(5x — 2) + 2 X 2x + 3

(% + 3x+5)2x+4)+ 1 x 5x+ 2

Bx—DBx—4)(x—2)

o~ 4)2x+1) =3¢ +2x -2

3x+ B3+ 2x)(x+ 1)(6x— 6)

H #A:

o

(% + 20+ 4)(2x — 2) + 4x + 3

4x+ (6+3x)(2x— 1)(x—35)

(5¢° = 3)(x+ 1) +5¢ +2x — 4

6x— (2 - 2¥)3x— 6)(3x + 1)

(x+ 5)(4x* + 5x + 5) — (6x — 2)(4x + 3)
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' 4 @ 2 Ewaie v

4 1. pan &
(2% + 3x +4)(5x— 2) + 2 x 2x + 3 (O + 2x+4)(2x —2) + 4x + 3
10 + 11x* + 18x— 5 20+ 2% +8x— 5
(2 +3x+5)2x+4)+ 1 x5x+2 4x+ (6+3x)(2x — D)(x— 5)
2 + 1002 + 27x + 22 6x° — 21x% — 47x + 30
(Bx— D)(5x— 4)(x - 2) (5% =)+ 1) +52 +2x— 4
15x° — 47x* + 38x— 8 50 + 102 —x— 7
o —4)2x+ 1) = 3% +2x—2 6x— (2 2x)(3x — 6)(3x + 1)
262 — 2% —6x— 6 18x° — 48x% + 24x + 12
3x+ B3+ 2x)(x+ 1)(6x— 6) (x+ 5)(4)(2 +5x+ 5)— (6x —2)(4x + 3)
12%° + 18x% — 9x — 18 47 + ¥ 4+ 20x + 31
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